H & 0l & AHS B Ml A

Ng=23 54
SA - HY - S9I(3) - HIRAY - BES o ar 7| 3 o
St 32,159,468 23,117,524
= 275,628 275,628
[ 729,000 429,000
Il 393,976 393,976
& 5,888,442 4,977 117
= 24,872,422 17,041,803
= E 1,403,147 1,372,397
) 149,506 149,506
== 61,689 51,864
= 1,191,952 1,171,027
g2 |4 283,820 253,070
Jl 149,506 149,506
& 29,745 19,920
T 104,569 83,644
stz et 26,350 28,350
203 HR=&H] 5,000 7,000
03 A=A PR A 5,000 7,000
O=2zt2a ge=d 5,000 7,000
HESS0=A KA 2,750 0
LS 825 0
o 1,925 0
308 AtAIEMSOIE 2,750 0
s 825 0
s 1,925 0
13 S 2SS &4 X 2AS A 2,750 0
OFH=2s =2 XA 2,750 0
& 825 0
T 1,925 0
TS ZoHHE ALY 12,000 0
308 XXM SOIA 12,000 0
07 M HHIRE = 12,000 0
Ox474 2attig 12,000 0
NS 2= N3 AE 18,000 0
= 9,000 0
s 9,000 0
307 21201 & 18,000 0
< 9,000 0
[Ea 9,000 0
02 2B HAHE L 18,000 0
OXNG 250z NZAIS<=IEEA OllAtAF
g s> 18,000 0
= 9,000 0
= 9,000

- 171 -




2AM: ZstHsD
M 20=RE
ol 2eed =4 EER=E)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
A =4 1,020,327 1,020,327 0
= 31,944 31,944 0
= 988,383 988,383 0
= 842 At 242,960 242,960 0
307 @IZtol & 242,960 242,960 0
04 QIZHHAIAIRIE & 211,400 211,400 0
Oo|==I4 H& A 71,000 72,000 A1,000
Oojd==I4 =2 10,000 9,000 1,000
Z3tAl & 2tel 608,259 582,14 26,065
ZSOIIAIE 22l 608,259 582,194 26,065
¥+ sheel dY 29 541,630 525,630 16,000
201 2| 487,197 471,197 16,000
02 3324l 467,353 451,353 16,000
Ol e 322 322,824 317,824 5,000
—&I|IQB(AOFED| Z&)
20,544, 2003« 12& 246,531 241,531 5,000
O=g& AILEHIR 64,200 63,200 1,000
—gAZHl SXl2teld] 3,000 2,000 1,000
OshseldY AERX2e(HS Al 2 20
&) 25,000 15,000 10,000
A2detat 23 66,629 56,564 10,065
201 B2 AL| 27,000 24,500 2,500
0”2 SZ2g| 20,000 17,500 2,500
Ostselgsta AIEEHl |KXIE
2,500,000 *32] 7,500 5,000 2,500
307 QI2Hol A 17,129 9,564 7,565
05 QIZtRIEIS 17,129 9,564 7,565
OMIIerz & JIEt2Z| 17,129 9,564 7,565
SIEAl =Y 1,605,016 105,016 1,500,000
(= 765,210 15,210 750,000
= 839,806 89,806 750,000
FZUHAIE &= 1,605,016 105,016 1,500,000
= 765,210 15,210 750,000
i 839,806 89,806 750,000
A+SHIIIAE TH(HEAID) 1,500,000 0 1,500,000
s 750,000 0 750,000
= 750,000 0 750,000
401 AIEHIYL 20HY 1,500,000 0 1,500,000
= 750,000 0 750,000
= 750,000 0 750,000
01 AlEHI 1,500,000 0 1,500,000
O&= SEAd =4 1,500,000 0 1,500,000
(= 750,000 0 750,000
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2A:

X XH -
o=

S
S3CAl X4
sz

=

Rl S0AIE EER=E)
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o HimE=ET

| 1] = 750,000 0 750,000

SOENEEE 7,622,855 6,547,855 1,075,000

2 275,628 275,628 0

z 300,000 0 300,000

= 2,892,233 2,752,233 140,000

2 4,154,989 3,519,989 635,000

23R4 el 1,813,392 1,688,392 125,000

= 275,628 275,628 0

=3 426,238 376,233 50,000

2 1,111,526 1,086,528 75,000

TEAE BOIAL XA 125,000 0 125,000

= 50,000 0 50,000

2 75,000 0 75,000

402 RIZHAHZ0| & 125,000 0 125,000

(S 50,000 0 50,000

2 75,000 0 75,000

2 LI HEAEE(0IF ) 125,000 0 125,000

OFEAE BOlAIE KRAL(MZA 125,000 0 125,000

= 50,000 0 50,000

2 75,000 0 75,000

B =L 5,809,463 4,859,463 950,000

2 300,000 0 300,000

= 2,466,000 2,376,000 90,000

2 3,043,463 2,483,463 560,000

IIOFR R HHIA 1,350,000 1,000,000 350,000

401 AIZHIZ 2 0HY| 1,350,000 1,000,000 350,000

01 Al&H 1,350,000 1,000,000 350,000

OJI0IR= EXIfY 1,350,000 1,000,000 350,000

SA3IE SUY J0H0ISE =4 600,000 0 600,000

2 300,000 0 300,000

= 90,000 0 90,000

2 210,000 0 210,000

401 AIZHIZ 2 THY| 600,000 0 600,000

2 300,000 0 300,000

= 90,000 0 9,000

2 210,000 0 210,000

01 Al&H 600,000 0 600,000

OHAIEH L HAISHELR 600,000 0 600,000

= 300,000 0 300,000

3 90,000 0 90,000

2 210,000 0 210,000

2UHS |4 19,991,903 13,996,552 5,995,351

2 400,000 400,000 0
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M ZSHHSH
M ZONE |4
el 20Ms #2438t (EEEE))
SA - B BR(S) - HRAY - BAS o v o H o HmS2
2l 244,470 244,470 0
< 2,157,443 2,145,943 11,500
= 17,189,990 11,206,139 5,983,851
zoHE 245t 2,583,751 2,525,224 58,527
2l 244,470 244,470 0
< 131,443 119,943 11,500
= 2,207,838 2,160,811 47,027
H=02 ozl & X2 615,650 593,850 21,800
< 11,500 0 11,500
= 604, 150 593,850 10,300
307 @120l & 615,650 593,850 21,800
& 11,500 0 11,500
= 604, 150 593,850 10,300
04 QIZFSHATAIE 2 & 615,650 593,850 21,800
Oz8l M=zl HADHE 148,000 137,700 10,300
02024 E=TPAMAHAWS|EE SSISEHHS
<FHLHEH MleAE s> 5,000 5,000
< 5,000 5,000
O=eZZH HILIANE <FHHEH Olat
AE s> 5,000 5,000
< 5,000 5,000
ONZAME U HAXA <FBLHHA
Oll&tALE S01> 1,500 0 1,500
< 1,500 0 1,500
T ZEEIE 29 72,527 42,240 30,287
201 L2 72,527 42,240 30,287
02 3224l 71,327 41,040 30,287
o®IIe3 4,523,900 x 122 54,287 24,000 30,287
s s 2% 50,400 47,400 3,000
201 L= 50,400 47,400 3,000
02 S3=gl 50,400 47,400 3,000
OJI0t2SE L SSHSAIE 2el 50,400 47,400 3,000
—&IIe=3 3,250,000 x 12 39,000 36,000 3,000
FA=CMSUE 2 95,600 92,160 3,440
201 LI 93,600 92,160 1,440
02 3224l 82,240 80,800 1,440
OFA=LHSHE 2 77,240 75,800 1,440
—&IIQLB(AOIMI|ZLE)
5,120,000& 128 61,440 60,000 1,440
405 KHAHF SH] 2,000 0 2,000
01 TR ESFHSHI 2,000 0 2,000
OMEHAD| 2 (ZRES)
2,000,000%*1HK 2,000 0 2,000
HSAE 2= 16,654,460 10,718,304 5,936,156
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2A:

EcIpS (el

M FOHE |4

Rl HSAE &S EER=E)

SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
s 400,000 400,000 0
< 1,995,000 1,995,000 0
o 14,259,460 8,323,304 5,936, 156
= ZEMs2 A A 10,419,000 5,882,844 4,536,156
401 AlZBIL S THY] 10,419,000 5,882,844 4,536,156
01 AlZHI 10,419,000 5,832,844 4,536,156
OF= SeAMSsE A 10,419,000 5,882,844 4,536,156
He dUXS2 ASAY 3,225,000 1,825,000 1,400,000
< 1,125,000 1,125,000 0
= 2,100,000 700,000 1,400,000
401 AlEBIYL LY 3,165,000 1,825,000 1,340,000
< 1,125,000 1,125,000 0
= 2,040,000 700,000 1,340,000
01 Al&HI 3,165,000 1,825,000 1,340,000
OXg Alids2 A 3,165,000 1,825,000 1,340,000
< 1,125,000 1,125,000 0
o 2,040,000 700,000 1,340,000
405 AHAHESH 60,000 0 60,000
01 AL =S F=H 60,000 0 60,000
Odg dUids2 22 72 60,000 0 60,000
=2zt gdat & dse |4 753,692 753,024 668
< 31,000 31,000 0
z 722,692 722,024 668
ANY2STIIR 28 2% 26,292 25,624 668
201 fer23y| 26,292 25,624 668
01 AtR2t2l] 4,372 3,704 668
O=ds & a8 &=, 34 EY 1,500 1,000 500

OF=D| 2Uz ¥ 24 wA

100,000& = 122 1,200 1,032 168
SSEAE =E & 29 685,358 452,084 233,274
z 29,000 29,000 0
[ 11,862 11,862 0
i 644,4% 411,222 233,274
SNES AS 685,358 452,084 233,274
= 29,000 29,000 0
[ 11,862 11,862 0
T 644,49%6 411,222 233,274
A2 N2 29 398,360 165,086 233,274
[ 11,862 11,862 0
i 386,498 153,224 233,274
401 AlEBIYL S THYI 251,274 18,000 233,274
01 Al£ZHI 251,274 18,000 233,274
OZ==H2 A2 018 =d SA 233,274 0 233,274
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od
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oF
uJ

SHHIS 1)

O

-

= R0

0 80 o
= 0K R0
o7 K0 I
O0H ®0 ~

T ZH -
[ I

ol .
o

=
-

-

KIO

Hlw

A425
2425
2425
2425
A425
A425
181,929
181,929
181,929
181,929
139,403

ol ® o

27,069
27,069
27,089
5,238
5,238
5,238
2,846
2,846
2,846
2,846

Ofl &F2H

26,644
26,644
26,644
4,813
4,813
4,813
184,775
184,775
184,775
184,775
139,403

- HyS

- SRA(E) - HIRAY

S - B

bR 14

3

=
[

HI(

JI=23Hl

Hl
=

7

!
=

KJ
iy

=Pl

Bt

802

ok

iy

25,737
627
15,144
14,687
8,250
68,637
6,321
42,526
106
314
101
23,79
3,246
91

522

2,846
4,073

25,737
627
15,144
14,687
8,250
68,637
6,321
45,372
106
314
101
23,79
3,246
9
4,073
522
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020234 (20224 012
HEX AL +
ES=NPN

O2028E T MSAHE HOAIE X

O2023H = A& Ardd] X

02024 &
020234 &




25 SSHS
. NWRESs(2SHs)
& BEEXE (CH9: &S1)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hnsz2
Q20238 A2 MEXSAE ZEXA
&HoH b Q| X} BH 745 745
OXgAg thsl2(2023d 221012 M= X
20| AXXA XM MM L QIR B 1,788 1,788
02023 AlEDl=2(H0l=2) 2AIY X
A DA 9 O] R BHe 691 691
Q20238 A2 23 EE3IAIY SHIOI M2 A
o gt 2 2
O20233 AZF2AX0IZH KA HEHE
OH 1,725 1,725
020233 AL=2F0ISH KAIY Ol
A4 oH 4 44
02023 ZOHRAUALZAX0IZF K2 AFH(
SHI)0| XhehAdoH 6 6
Q20238 Al HERSEI R 2GEXAA
LIS REOH Bt 193 193
O2023E Al HE2SEI|R 2GEXAS
Ol Xt Bt 2 2
020283 SSALZXZSHAEINZEHE AIS
ZISHAFOH BiLt 182 182
020288 SSALXZSHAEINEZEHE AL
Ol At BHet 1 1
020234 X9 HE AXLx=2H S2HXIA Ok
gLt 3 3
Q20238 MEH= AlZzsE0eleld & 2353
o AN oy 1,704 1,704
020233 MEX= AlZs3elel] & 2=sS
& OIXF Bty
02023 MEHSWA 2HAI OXt Bt 2 2
020233 MEXNFTHHKNTA SSALS Ol Xt
Ela=1 2 2
020233 Ol ME XX S RHHIX| X3 AHS
EISHRFOH Bt 3,147 3,147
02023 EHOHIME XIS XIS XX K& A
Ol Rt Bt 21 21
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